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(A) hk+hH.^

(B)

(C) W^7toW%-WRto

(D)

TO ^ ̂ ̂  t, ̂

(A) ■^T^trofkl

(C) -^r^t

(D)

tl^cK eTPT "I :

(A) ^rt^iTR^WT'l

(B)

(C) "^Tt^ TO ̂  TOT t

(D) ^"TO'^T^t

t I

(A)

(B) W^teofi

(C) TOTf^^uif

(D)

Rnl^l^d ̂  ̂ %TO TOTT IdRdM. :

(A) TJ^TRT "^ft^ ■=i(nfli ^ I

(B) TO^TT^WT^t I

(C) 3TOT ^ ^ 3Tte i[€[

(D) "STOT "McI ^ ̂  ̂TTOT
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5.

The primary energy resources are alwaj^ :

(A) Conventional only

(B) Non-conventional only

(C) Conventional as .well as

non-conventional

(D) None of the above

Wind energy is a source of energy, which
is:

(A) Renewable

(B) Non-renewable

(C) Thermal

(D) Nuclear

The advantage of solar cooker is :

(A) Nutrition value is maintained

(B) Cost is high

(C) Nutrition value gets destroyed

(D) No advantage

The nature of light waves is similar to : 9. An electric field can deflect:

(A) Cathode rays (A) X-rays

(B) Cosmic rays (B) Neutrons

(C) Gamma rays (C) Gamma rays

(D) Alpha rays (D) a-particles

Write only the wrong statement out of the
following is:

(A) Light travels in a straight line.

(B) Light is a wave motion.

(C) Light travels with a speed greater

than the speed of soimd.

(D) Light cannot travel through vacuum.

8.

The solar cells are made by:

(A) Metals

(B) Insulators

(C) Semi-conductors

(D) Glass

Mirror used by a dental surgeon is :

(A) Plane

(B) Convex

(C) Concave

(D) Both convex and concave

At the time of short circmt, the amoimt of

current in the circuit:

(A) Reduces substantially

(B) Increases heavily

(C) Does not change

(D) Varies continuously

10. Which of the following instrument can
detect the presence of electric current in a

circuit ?

(A) Motor

(B) Galvanometer

(C) Generator

(D) None of the above
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11. ̂  ^ ̂ TO ̂

t, :

(A)

(B) Tt^WTiTTt

(C)

(D) ^^5n?rT%

12. ^ ̂ i%te 3rf^ :

(A)

(B) 3135I^--^ TR 1^ t

(C) 5S2PTRTTCl^WTt

(D) W^, 5S2WR 3^ 3l35resf-W ̂  1^

"^klT %, ̂  <t)5^idi "I:

(A) (d^d-3HHMd^

(B)

CO

(D)

14. ^ ̂ ̂ PnldRdd ̂  ̂  ^
1^ ̂  t MRdf^d I ?

(A)

(B) TRTFrf^

(O ̂

(D) i^rf^

15. ̂  1^ 1^?a% ^ mRuiih "I ?

(A) 3TT^

(B) ̂ sarro

(O ̂

(D) 3;^

16. % tong^TH, 1«ra^
^  ̂ncTT "t, ■'TT 3TT^

:

(A) TOW % "Hfl«=i«J'i

(B) ^

(O ^

(D) TOW % "2[^

17. X-fW ̂  ̂  ̂  f :
(A) ^dlrH4> 3TFRf ^ «TRr^

(B) ^

(O

(D) TO %

18. ^ "^j "f^ mI^^ii ^ qfTC^
t ?
(A)

(B)

(O aTRt^ftooT

(D)

19. ^ ̂  "M
t, :

(A) 200 eV

(B) 2000 eV

CO 200 MeV

CD) 20Mev

20. I

CA)

CB)

CO

CD) "McI^^^pRcff
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11. If an electric current is passed through a

nerve, the human:

(A) Begins to laugh

(B) Begins to weep

(C) Is excited

(D) Becomes insensitive to pain

12. The specific resistance of a wire :

(A) varies with its length

(B) varies with its cross-section

(C) varies with its mass

(D) does not depend upon its length,

mass and cross-section

13. In electroplating, the article to be

electroplated is known as :

(A) Electrolyte

(B) Anode

(C) Cathode

(D) Conductor

14. In a dry cell, which of the following energy

is converted into electrical energy ?

(A) Mechanical

(B) Chemical

(C) Kinetic

(D) Potential

15. Lenz's law is a consequence of the law of

conservation of:

(A) Charge

(B) Mass

(C) Momentum

(D) Energy

16. According to Faraday^s law, the total
charge induced in a conductor that is

moved in a magnetic field depends upon:

(A) Change in magnetic fiux

(B) Initial magnetic fiux

(C) Final magnetic flux

(D) Rate of change of m^netic fiux

17. X-rays are made of:

(A) Stream of positive ions

(B) Electromagnetic radiations

(C) Stream of electrons

(D) Stream of neutrons

18. In Hydrogen bomb, we use the process

called:

(A) Fusion

(B) Fission

(C) lonisation

(D) Electrolysis

OOC

19. The energy released per fission of 92U

nucleus is nearly:

(A) 200 eV

(B) 2000 eV

(C) 200 MeV

(D) 20 MeV

20. Magnetic lines of force:

(A) always intersect

(B) are closed curves

(C) tend to crowd fer away from

magnetic poles

(D) do not pass throu^ vacuum
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21. ^ 1^ Wt t

(A) 1sf)^

(B) "fsP^

(C) wn^1^

(D)

22. trm 1feft t :

(A) STRcH

(B) ̂ TT^

(C) WT

(D)

23. ^ it.T3?T.T^. % %f^mT
^  ̂-"^TT 3it€t? ^iTcTT t ?

(A) 'TT^

CB)

(C) it.T3^.xr.-qMN^

(D) ■qf^M^ 1

24. 3#P ̂  ^ ^ ̂5rraT

(A)

(B)

(C)

(D)

26. 1^ Wi % Trfj ^
^ ̂  ̂  t ? 30.

(A) AB^nj^

(B) B^

(C) AW^

(D)
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(A)

(B) 4iT^c[1^<ui

(C) HfrqmK^

(D)

27.

28.

29.

C4 3R)RT-'9?^ "^Wf ^ I^Ria ^ 3gTclft^ ^
^ f/^ ̂  t 1
(A) I^STTdMt
(B) 3TT?Tft^t

(C)

(D) ^im^5TmMt

^ fddlfilH ^ ̂  ^ t ?

(A) RtdiR^n (^) D'

(B) (^ft) C

(C) tefiR (tt) a
(D) I^SlfiR (%) K

^  f :

(A) W "1^

(B)

(C) ^ W

(D) ^ "q^flR WTT^

wn"Wit :
(A)

(B) ^<i41Rrm ^

CO

(D)



21. Reflex action in vertebrates is :

(A) Voluntary Action

(B) Involuntary Action

(C) Normal Action

(D) None of these

22. Human spleen controls :

(A) Blood Volume

(B) Pulse Rate

(C) Heart Beat

(D) Hormone Secretion

23. Which protein helps in opening of DNA

double helix in front of replication fork ?

(A) DNA Gyrase

(B) DNA Ligase

(C) DNA Polymerase

(D) DNA Polymerase 1

24. In TnflTnTnflliaTi kidney loop of Henle is

situated in:

(A) Cortex

(B) MeduUa

(0) Pelvis

(D) Renal column

25. In which blood group are antibodies not

present in blood serum ?

(A) AB Group

(B) B Group

(C) A Group

(D) O Group

26. The process of phosphorylation in

Glycolysis is known as :

(A) Oxidative Phosphorylation

(B) Reductive Phosphorylation

(0) Substrate level Phosphorylation

(D) Photosynthetic Phosphorylation

27. The specialized leaf anatomy of

photosynthetic plant is named as :

(A) Cratz Anatomy

(B) Kranz Anatomy

(C) Dendrochronology

(D) Yarwood Anatomy

28. Osteomalacia is caused due to the

deficiency of:

(A) Vitamin D

(B) Vitamin C

(C) Vitamin A

(D) Vitamin K

29. A bipolar neuron has :

(A) one dendrite and one axon

(B) two axons and two dendrites

(C) two dendrites and one axon

(D) two axons and one dendrite

30. Binary Fission occurs in :

(A) Amoeba

(B) Paramaecium

(C) Euglena

(D) All of these
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31. ^ t:

(A)

(B)

(C)

(D)

32. Trf^RT ̂  "^n^ft "I :

(A) 3TFTRI^ % ^

(B)

(C) % ̂-i=^JteT Tf

(D)

33. '4>I^[9h1'^H ̂  ^ WT t ?

CA) SlTf^

(B)

(C) 3ri^RFT

(D)

34. "SniPT 1^ :

(A) WT "9

(B) TfkTt#^WT'^

(C) WT

(D) Tft%Tt^WT^

35, "RT^ "^^Rl^bl "^^-TTT ̂ ThIh =blf5l<bl % 1^

(A)

(B) sfff^

(C) I^®of3.Rn

(D)

37,

38,

36. ter "Jiw

(A)

(B) ̂ ntoi

(D)

^  ̂ wrte ar^
(^3iTTTfS) m Wft f, 3TU5i^^ %
^ TT 3751^ (art^) RWa ?

(A) 5

(B) 10

(C) 20

(D) 40

ar^^Rj ̂jPR 1^11^) % arro: ̂
1W 4'fF4)<y| "f^ WTT t ?

(A)

CB) ̂

(C) 1^^reftiTT#^tar

(D)

3it^aTT aTk if ^ f :

(A)

(B)

(C)

(D) 3fftd^qta

«1^nW><"J| ̂  atn^TR^ cRTT "t ?

(A) ̂

(B) (fM^t)

(C) (3r5nf^)

(D) ct>)i^|ebl

39.

40,

SF/M/II/2019 (RE) (8-B)



31. Omithine cycle appears in:

(A) Kidney

(B) liver

(C) Heart

(D) None of these

32. Brunner's glands are found in:

(A) sub-mucosa of Stomach

(B) wall of Rectum

(C) sub-mucosa of Duodenum

(D) mucosa of Ileum

33. Who converts the Fibrinogen into Fibrin ?

(A) Thrombin

(B) Thrombokinase

(C) Ovary

(D) All of these

34. First vertebrates appear in:

(A) Archaeozoic Era

(B) Mesozoic Era

(C) Paleozoic Era

(D) Coenozoic Era

35. Which hormone is responsible for cell
growth in plant cell ?

(A) Cytosine

(B) Auxin

(C) Gibberellin

(D) Dormin

36.

37.

38.

39.

40.

Feeding on dead and decayii^ organism is

known as:

(A) Autotropic

(B) Holozoic

(C) Saprophytic

(D) Parasitic

Five oogonia yield ten primary oocytes,
then how many ova are produced by the

completion of oogenesis ?

(A)

CB)

(C)

(D)

5

10

20

40

Classification of which organism is based

on the types of Asexual reproduction
(Budding and Fission) ?

(A) Bacteria

(B) Yeast

(C) Myxomycetes

(D) Actinomycetes

A connecting link between Protozoa and

Porifera is:

(A) Chlamydomonas

(B) Euglena

(C) Protopterus

(D) Proterospongia

What is the basic unit of Classification

(Taxonomy) ?

(A) Genes

(B) Species

(C) Genus

(D) Cell

SF/M/ll/2019 (RE) (9-B)
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41. R & D ^ 2007 ̂  TTTT
WT <=hl4shH ̂  "^TW ̂ cTT^ I

(A) S&TR?#T
(B) <Jr^aai

(C) trilfWH 3^ iMMt
(D) s &TTTR^^^Tm^15riTk ̂ fkiW^T

42. ^Jlddl^ mR^^Th % KT^ ̂  %jHT
(NAPCC) "gnr ̂  1^ ̂  1iRR f :
(A) MiRR^fa«fl ^ %

1^ TT^ -fiRR (NMSHE)
(B) MRclttn % ^WR^ WT ̂  "0^

15rr (NMSKCC)

(C) ̂ ^(A)3^^^(B)
(D) (A)3ft^(B)^

43. wdk

(SOI) ̂  WRT ̂  ̂ ait :
(A) 1767^

(B) 1757

(C) 1777^
(D) 1787^

44. % "m 3i3thTR 3^ few %
TO TOftar ^ % STRJRT

TRTRft % 3fk

ifltTlPicQ ?

(A) 3n3aiMDft^
(B) "fir^rangi^

(D) TOT 31^

45. w 315RTO 13^ "toR RRS^T %R TOft??
y1^1R|cCl TOR TR 313RTO ^anf^
^fRTI ̂  ̂ ̂ TJR a«t)-fl=f)l

(A)

CB)

(C)

(D)

IIT-^t^
HT-^

HT-I^

IIT-"

46.

47.

48.

49.

50.

^ "mdianculture.gov.in"
tor t, ̂  MvT%ci TOR? ̂

(A) IIT-W13^

(B) IXT-RTRgi

(C) ut-iM
CD) IIT-

^ "f^ LLC" TO

^ 13^ Rf ^ 1rRT^ M^l^d ̂  ?
(A) "TO^^TfR (BuyUcoin)

(B)

(0) Paytm

(D) PhonePe(RR^)

fqxfl'H RR^ ̂  ^

\Pl4>l^ ̂  (UPI)" % TO
■fror "w %:
(A) ^
(B) fe
(C)

(D)

to TOR ̂  ̂  STRRtro TOR % TO ^ TOT
TOT t, to 5 R^, 2005 RJt toT RRT
arr?

(A) %Rt^(HAMSAT)
(B) RJI^-l(CARTOSAT-l)
(C) tos-4A
(D) to^-l(RESOURCESAT-l)

R^ 3RrR^ ^toR t ̂  TOto 3itoif %
to ^3^ Rit RS RR^ RT 3?^ ^ % to
tor^ toT RRT t, toRR TO t:
(A) 3Tt|,3TR.RR. (IRS)
(B) %Rlte(HAMSAT)
(0) 3RR(ASAT)

(D) TO (SARAL)
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41. Name an ximbrella programme that was

launched in 2007 to promote R&D.

(A) International S & T Cooperation

(B) Scientific Excellence

(C) Nanoscience and Technology

(D) Creating and Nxirturing S & T
Human Resource

42. National Action Plan for Climate Change

(NAPCC) launched missions are:

(A) National Mission for Sustaining
Himalayan Ecosystem (NMSHE)

(B) National Mission on Strategic
Knowledge for Climate Change
(NMSKCC)

(C) Neither (A) nor (B)
(D) Both (A) and (B)

43. Under the Ministry of Science and

Technology, the Survey of India (SOI) was
set up in:

(A) 1767

(B) 1757

(C) 1777

(D) 1787

44. Which company signed the licence
agreement and transfer of technology for

Akash Missile weapon system of Indian
Army Variant with Defence Research and

Development Organisation ?
(A) Ordinance Factory Board

(B) Mishradhatu Nigam

(C) Bharat Dynamics Limited
(D) Bharat Earth Movers Limited

45. Defence Research and Development

Organisation will establish a research cell

at which Indian Institute of Technology to

meet the future defence technological

requirements of the coimtry ?
(A) HT — Jodhpur
(B) HT — Indore

(C) HT-Bhilai

(D) HT — Hyderabad

46. Government launched portal
"indianculture.gov.in" is developed by

which of the following institutes ?

(A) HT - Kharagpur

(B) HT - Kanpur

(C) HT - Mumbai

(D) HT-Delhi

47. Who registered a new Cryptocurrency
firm named "Libra Networks LLC" in

Geneva, Switzerland ?

(A) BuyUcoin

(B) Facebook

(C) Paytm

(D) PhonePe

48. Lidia's largest app for financial services
that has integrated with Unified Payment
Interface is:

(A) Wafiy

(B) Mint

(C) You Need A Budget

(D) ETMoney

49. Which satellite is known as Earth

Observation Satellite that was launched

on 5^ May, 2005?
(A) HAMSAT

(B) CARTOSAT-1

(C) INSAT-4A

(D) RESOURCESAT-1

50. Name a space weapon which is designed

to destroy or incapacitate satellites for
strategic militaiy purposes.

(A) IRS

(B) HAMSAT

(0) ASAT

(D) SARAL

SF/M/ll/2019 (RE) (11-B)



0^
51. (EMISAT) ̂

1^)^ wr ?

(A) 21ttt^, 2019

(B) 28TTr4, 2019

(C) 22 2018

(D) 1 2019

52. RnldRkd t ̂  ̂-"^n 3TTf."?ft.^. (ICT)
^  "I ?

P: "51^ "I, ̂

Q: anf.'^ft.'^t. w ^ 3#rwT
■# t arm %^flrrT MT^ %

% arffM-l^^a^^, Mqihr a^

(A) %^P
(B) Q
(C) Pa^Q^
(D) ^^Pa^^-^Q

53. APIPA^ 3R^A w| ?
(A) 169-254-0-l^ 169-254-0-254
(B) 169-254-0-lt 169-254-0-255
(C) 169-254-0-lt 169-254'255-254
(D) 169-254-0-1^ 169-254-255-255

54. ^ ^ ̂ %
^ tsr 5RT? ̂  ^ ̂TRTT t :
(A)

(B)

(C)

(D) 1# 3f^

55. an|,^. liliilchTei
t?
(A)

(B) an t
(C) <jrssi 1%^ ̂
(D)

^THT ^afRTT

56. anfA ̂  ^ 3^ iRissr an^A
aii«t>K ?

(A) 4l^
(B) 8i^
(C) 16

CD) 321^

57. anffe 2019 - 20 ozm^
t ?
(A) ^O^JIld
(B)

(C) aft^frfw^^TR
(D) TEei€-3N

58. I

(A) an^7%

(B)

(C)

(D) ti'ifco

59. ^ifWRiT ^ I ̂ ̂

(A) A "t

(B)

(C)

(D) ^%aj?lA3TT^f

60. ^ t :

(A)

(B) ^ST^afR^n^

CO

CD)
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0^
51. The Electronic Intelligence Satellite

"EMISAT" was launched on:

(A) 21®^ March, 2019

(B) 28^^ March, 2019

(C) 22^^ April, 2018

(D) l®'^ April, 2019

52. Which of the following statements

regarding the term ICT is/are true ?

P: ICT is an acronym that stands for
Indian Classical Technology.

Q: Converging technologies that
exemplify ICT include the merging
of audio-visual, telephone and
computer networks through a
common cabling system.

(A) P only

(B) Q only

(C) P and Q both

(D) Neither P nor Q

53. What is the IP Address range of APIPA ?

(A) 169.254.0.1 to 169.254.0.254

(B) 169.254.0.1 to 169.254.0.255

(C) 169.254.0.1 to 169.254.255.254

(D) 169.254.0.1 to 169.254.255.255

54. The management of data flow between

computers or devices or between nodes in
a network is called :

(A) Flow Control

(B) Data Control

(C) Data Management

(D) Flow Management

55. Why is IP Protocol considered as

imreliable ?

(A) A packet may be lost

(B) Packets may arrive out of order

(C) Duplicate packets may be generated

(D) All of the above

56. What is the size of soiu*ce and destination

IP address on IP header ?

(A) 4 bits

(B) 8 bits

(C) 16 bits

(D) 32 bits

57. What is the Overarching theme of

Economic Survey 2019 — 20 ?

(A) Unemployment

(B) Wealth Creation

(C) Industrial Reforms

(D) Startup Innovation

58. Information is .

(A) Raw Data

(B) Raw Knowledge

(C) Input Data

(D) Organised Data

59. Energy is released from Fossil Fuels when

they are:

(A) Pmnped

(B) Cooled

(C) Burned

(D) Pressiudsed

60. The main composition of biogas is :

(A) Methane

(B) Carbon dioxide

(C) Nitrogen

(D) Hydrogen
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61.

M

62.

?

(A) ̂ rt^iftw

(B)

(C)

(D) "^cfpfl" ̂

(Bio-plastic) 1^ ^ f ?

(A)

(B)

(D) % <:tLl4

63.

(A)

(B)

(C) ST'JSTTR % Tf

(D)

64. Rnf^l^d t ̂ ^ iiUMTti
(AQI)WT^ ?

(A) WP^^31TW|S

(B) % 31WTI5

(C)

(D)

65. w afro ^
(3^t|.^^,TR) ̂  31^ ̂  ^STRTT t :

(A)

(B)

(C) ̂

(D)

66. 1^ ̂ ̂-[^fd^dl ̂ fer^ ̂Td^Td f ?

(A) 10

(B) 16

(C) 25

CD) 34

67. STtRf^ ^TR^ 3^ '+>l4sbH
-SKT smter W I

(A) (UNEP)

(B) 3TT^.^.^.\. (ICSU)

CO (UNESCO)

CD) 3TTf.^^ft.i(^. CIUCN)

68. ^ 3i\#T 1^ TRRT ̂srmr t:

(A) 16 3R^

CB) 16

CO

CD) 26 3R^

69. ^ t :

(A)

CB)

CO ̂

CD) ̂ TO

70. 37te ̂  3fN#jR -m (BOD) ̂  Tf
% ;

(A) =hl4Pl<t) ^ ̂qPT% "a^ ̂

(B) 3iMt^d ̂

CO

CD)
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61. Which biogeographical region of India has

the highest endemic biodiversity ?

(A) Western Ghats

(B) Andaman and Nicobar Islands

(C) Deccein Plateau

(D) Gangetic Plains

62. Bioplastic is made &om which substance ?

(A) Nylon

(B) Teflon

(0) Polyethylene

(D) Maize Starch

63. The first Marine National Park of India is

in:

(A) GulfofKutch

(B) Gulf of Mannar

(C) Southern Islands of Andaman

(D) Bay of Bengal

64. Which of the following gas is not

considered for the measurement of Air

Quality Index (AQI) ?

(A) Sulphur dioxide

(B) Oxides of Nitrogen

(C) Nitrogen

(D) Carbon monoxide

65. International Union for Conservation of

Nature (lUCN) is also now designated as :

(A) World Conservation Union

(B) World Conservation Unit

(C) World Comparative Unit

(D) World Nature Union

66. How many Biodiversity hotspots are there

in the world ?

(A) 10

(B) 16

(C) 25

(D) 34

67. International Man and

Programme was initiated by _

(A) UNEP

(B) ICSU

(C) UNESCO

(D) lUCN

68.

69.

70.

Biosphere

Intemational Ozone Day is celebrated

every year on:

(A) 16*^ October

(B) 16^ September

(C) 21®* January

(D) 26**^ October

The unit for the measurement of noise

pollution is:

(A) Decibel

(B) Hertz

(C) Watt

(D) Lux

High Biological Ojgrgen Demand (BOD) in

water indicates:

(A) Presence of organic matter and

polluted water

(B) Non-polluted water

(C) Presence of insoluble substances

(D) Rainwater

SF/M/M/2019 (RE) (15-B)



71. Pnldf^d ^ ^ ?rm ̂  ̂
?

(A) ®t>i^*i •si^^i'ty 15s (CO2)

(B) NO2

(C) CH4

(D)

72. PnRindd ̂  TT^
t ?

(A) CO2

(B) CO

(C) O3

(D) CH4

73. 1%H "3^ % % f ?

(A)

(B)

(C)

(D)

74. W7W (ex-situ)

■gnr ferr ^ t ?

(A) Ti^^rrf)
(B) <^H-wlcl<4»

(O

(D)

75. ^ ̂ --f^f^^Tcrr to "^fa^r ?
(A) 2000

(B) 2002

(C) 1998

(D) 2001
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76. tof^ito ̂  % ^-?rT mcf ^ ^
^'t?
(A) ■'TT^

(C) "SlM ̂ 13^ ^0^ ̂
(D) Tnflwn "Rgd 3TV!iKtRi

77. Rnf^l^d ̂  t ?

(A) tw

(B)

(C)

(D) cT^

78. ^rmR 'towi" tFt ^rt to%
tot ?

(A) 3TTito%?m
(B)

(C) Tn% % ci<4^i
(D) % <ncj"i

79. finl^nkd 11 '^-'w nm % toR to5R
tosFR ̂  ftor t ?

(A) 3^^rato
(B) TritoH^to

(C) "'Rf

(D)

80. -f^FfpT) 3^
^  to t l
(A) anfto
(B)

(C)

(D) to

-B)
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71. Which of the foUowing gas is mainly

responsible for global warming ?

(A) Carbon dioxide (CO2)

(B) NO2

(C) CH4

(D) Cblorofluorocarbon

72. Which of the following is a secondary

pollutant gas ?

(A) CO2

(B) CO

(C) O3

(D) CH4

73. Lichens are bioindicators of which

pollutant gas ?

(A) Sulphur dioxide

(B) Carbon dioxide

(C) Carbon monoxide

(D) Fluorine gas

74. Ex-situ conservation of biodiversity can be

done by:

(A) National Parks

(B) Botanical Gardens

(C) Protected Areas

(D) Biosphere Reserves

75. Biological Diversity Act was implemented
in which year in India ?

(A) 2000

(B) 2002

(C) 1998

(D) 2001
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76.

77.

78.

79.

80.

Which of the following is not a Marine
National Park in India ?

(A) Mahatma Gandhi Marine National

Park

(B) Galapagos Marine Reserve

(C) Rani Jhansi Marine National Park

(D) Gahinnatba Marine Sanctuary

Which of the following is a water-borne

disease ?

(A) Cholera

(B) Fluorosis

(C) Influenza

(D) Tuberculosis

"Minamata" disease in Japan is caused by

the entry of in the food diain.

(A) Salt of Arsenic

(B) Salt of Mercury

(C) Salt of Copper

(D) Iron Salt

Which of the following is not a part of

Family Planning Programme of India ?

(A) Vasectomy

(B) Tubectomy

(C) Intrauterine devices

(D) Hysterectomy

Methemoglobinemia (blue baby syndrome)

is caused due to excessive presence of

in groxmdwater.

(A) Arsenic

(B) Nitrates

(C) Fluoride

(D) Copper

-B)



81. fefk ̂  ̂ ^ w t ?

(A) s-i

(B) moHLs-l

(C) molL-^s"^

(D) moHLs-1

82. RMliifed

(A) S-^

(B) r

(C) COg"

(D) scir

(A) Fe203

(B) Fe304

(C) FeCOg

(D) FeSg

84. ^ Htm % ^

% fei ^ 1^ t ?

(A)

(B)

(C)

(D) dM^Th

85, ^ XRTHf^ t:

(A) CuFeS2

(B) CuCOg. Cu(0H)2

(C) CuaO

(D) CugS

86. amtf^ (pH) ■#
TpiRT 1*9 X 10"^ M W OH~^n^^

(A) 11-28

(B) 9-28

(C) 7-28

(D) 5-29

87. ^

(A) C-0

(B) Si-O

(C) Ge-0

(D) Sn-0

88.

(A) Pl^RT^t
(B) Ti^ra^t
(C) PcrmT^i^RNjf
(D) ^^Psfk^'^T'WNil

89. Rnl^R^d ^ ̂  "cp; ^
t?
(A)

(B) Hl'4dH-6,6

(C)

(D) ^

90. RHf^fSkd ^ ^ 3feTt5RT^ ^Jl/%
t/| ?

(A)

(B) 3Ti^

(C) (A)W(B)^
(D)
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0^
81. What is the imit of second order reaction ?

(A) --1

(B) moHLs-^

(C) molL-^s"^

(D) mor^ L s~^

82. Which of the following is not a soft base ?

(A) S-2

(B) r

(C)

(D)

2-CO^

scisr

88.

89.

83. The chemical composition of Magnetite is :

(A) Fe203

(B) Fe304

(C) FeCOg

(D) FeSa

84. Which of the following method is used for

extraction or refining of metals ?

(A) Electrolysis

(B) Vapour phase refining

(C) Zone refining

(D) All of the above

85. The chemical composition of copper glance

is :

(A) CuFeS2

(B) CuCOg. Cu(0H)2

(C) CugO

(D) CugS
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90.

86.

87.

Calculate the pH of an aqueous ammonia

solution that has 0H~ concentration of

1-9 X 10"® M.

(A) 11*28

(B) 9-28

(C) 7-28

(D) 5-29

Glass has bonds of:

(A) C-0

(B) Si-O

(C) Ge-0

(D) Sn-0

In a reversible isothermal process :

(A) P is constant

(B) T is constant

(C) Both P and T are constant

(D) Neither P nor T are constant

Which of the following is not a synthetic

polymer ?

(A) Poljiihene

(B) Nylon-6,6

(C) Buna-S

(D) Resins

Which of the following is/are examples of

oxoacids ?

(A) H3rpochlorous acid

(B) Hydrochloric acid

(C) Both (A) and (B)

(D) None of these



0^
91. f ?

(A) ̂

(B) 6\il[^i[H

(C) 1^

(D) fll^

92. ^ y«siddl ̂  t :

(A) ̂  ^ ^
TRTPfe

(B) ^ TTFft ̂  dl'41«^<u|

(C) ^

(D)

93. "c^n^ a#FJ ̂  ̂ arrfo^ t:

(A) 2CaS04.2H0(s)

(B) 2CaS04. iHgOCs)

(C) 2CaS04.2H0(Z)

94.

(D) 3CaS04.-HgOCs)
3

afi^#5R ar^, arm a^
aTFR^^^t

(A) 1-5,1,2

(B) 2,1,1-5

(C) 2,1-5,1

(D) 1,1-5,2

95. ^ "^-ITT acqi^
?

(i) LiAlH^
RCOOH -» ?

(iOHgO

(A) RCHgOH

(B) R2CH2OH

CO R3CH2OH

(D) R'CHgOH

96.

97.

98.

99.

^ lUPAC ̂  W t ?

(A) Tr^^ff^aro

(B) ̂ MWara

(O T#fi^aTT^

(D)

"wn^ % "Siu arq^
^ it tj ̂  ^ an^jf^ ̂  ̂ WTT
W hRhi"! «»J5e\tdi "t:

(A) "stl^di

(B)

(C) ̂ ^-=Kii|lr4d>dl

H20 3lkC02f :
(A) 3TO arr^ ̂  31^ m

(B) art^ 3^ ^

CO ^ ̂ ̂
CD) 31^ ̂  a^ 3Ti^

s- "OT p-13^ ̂  ^ CCE) W
31^ nR^ii^a t '

(A) CE= "^3+me3
n + m

(B) CE= ̂ ^3-meg
n + m

CO CE =

CD) CE =

n + m

neg + meg

n + m

neg - meg

100. MnO + 20 Mn + 2C0%teCMn)%
^ W^i t I t :

CA)

CB)

CO

CD)
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91. Hmenite and RutHe are principal ores of

which metal ?

(A) Iron

(B) Titanium

(C) Nickel

(D) Copper

92. Concrete gains strength due to :

(A) Chemical reaction of cement with

sand and coarse aggregates

(B) Evaporation of water from concrete

(C) Hydration of cement

(D) All of the above

93. The molecular formula of Plaster of Paris

is:

(A) 2CaS04.2H0(s)

(B) 2CaS04. iHaOCs)
A

(C) 2CaS04.2H0(Z)

(D) 3CaS04. iHgOCs)
3

94. The bond order of oxygen molecules,

superoxide ion and peroxide is/are :

(A) 1-5,1, 2

(B) 2,1,1-5

(C) 2,1-5,1

(D) 1,1-5,2

95. Which of the following product is correct

in the given reaction ?

RCOOH
(DLIAIH^

?
(ii)H20

(A) RCH2OH

(B) R2CH2OH

(C) R3CH2OH

(D) R'CHgOH

98.

CB)

(C)

(D)

96, What is the lUPAC name of acetic acid ?

(A) Methanoic acid

Propenoic acid

Ethanoic acid

All of the above

97. A measure of an atom's ability to attract

electrons from a nei^bouring atom to
which it is bonded is called as :

(A) Electron affinity

Electropositivity

Electronegativity

lonisation potential

H2O and CO2 are:

(A) Hard acid and hard base

Soft add and hard base

Soft acid and soft base

Hard base and soft add

99. For s- and p-block elements, the

configuration energy (CE) is defined as :

(A) CE= °^3+me3
n + m

(B) ce = ̂^^3j:^
n + m

(B)

(C)

(D)

(B)

(C)

(D)

CO CE =

(D) CE =

100. MnO + 2C

n + m

nea + mes

n + m

nea - mea

-> Mn + 2C0 is the method

of recovery for Manganese (Mn). Its
principal mineral is:

(A) Scheelite

(B) Wolframite

(C) Pyrolusite

(D) Haematite
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